Name Date

PARTS OF A DIVISION SENTENCE 1

+ means divide

24+3=8

/oA

dividend divisor quotient

24 divided by 3 is equal to 8.

) also means divide
8 +—— quotient
3 ) 24
-/ AN
divisor dividend

24 divided by 3 is equal to 8.

Complete the missing parts.

18+2=9

divided by equals

20+5=4

divided by equals .

The dividend is )
The divisor is

The quotient is

The dividend is )
The divisor is

The quotient is

3
4112

divided by equals

5
3)15

divided by equals .

The dividend is )

The divisor is

The quotient is

The dividend is )

The divisor is

The quotient is




Name

PARTS OF A DIVISION SENTENCE 1 ANSWERS

Complete the missing parts.

18+2=9
18 divided by 2 equals 9
The dividend is 18
The divisor is 2

The quotient is 9

20+5=4
20 divided by 5 equals 4
The dividend is 20
The divisor is 5

The quotient is 4

3
4)12

12 divided by 4 equals 3
The dividend is 12
The divisor is 4

The quotient is 3

5
3)15

15 divided by 3 equals 5
The dividend is 15
The divisor is 3

The quotientis 5






